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Count Equal Groups

A bicycle has 2 tires. Jessica put new tires onto each of
4 bicycles. How many tires do the 4 bicycles have?

4 groups of 2
is B?

You can draw a picture to find the answer.
A. Draw a circle below each bicycle. How many circles
did you draw? _4

B. Draw counters in each circle to show the number
of tires. How many counters did you draw in

each circle? _ <

C. Count. How many counters are there?

D. How many tires do the 4 bicycles have? 8

Show equal groups. Count equal groups to find the total.

§1 Each wagon has 4 wheels. There are 3 wagons.
How many wheels do the 3 wagons have?

7 Elijah builds 5 scooters. Each scooter has 2 wheels.
How many wheels do the 5 scooters have?
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Relate Addition and Multiplication

Cara has 5 vases. She places 3 flowers into each
vase. How many flowers are in the 5 vases?

You can add to find

) Sl =Y Fhrj s
how many in all.

5 % ;: 15 When the same number is added
more than once, you can multiply.
There are 15 flowers. 5 times 3 is 15.
Kl Each person has 2 ears. How #1 Each bowl has 7 apples. How
many ears do the 6 people have? many apples are in 3 bowls?

Add. Add.
2 + 2 + 2+ + + ==
2 #4 2 + 2 =
Multiply. Multiply.
groupsof 2 = groups of =
There are _ ears. There are apples.

Meodule 1 @ Lesson 2



© Houghton Mifflin Harcourt Publishing Company

Name

Represent Multiplication with Arrays

Mr. Brooke’s classroom has 3 rows with 4 columns
4 desks in each row. How many desks l
are there?

You can make an array to help you find r{O O O O
the number of desks. 3 rows O O O O

Count. There are a total of 12 counters.

So, 3 rows of 4 equals 12 counters. g O O O O
You can use an array to help you write an

equation to find the number of desks. An array shows

bjects i
3 rows of 4 = 12, or 3 groups of 4 = 12, or 3 X 4 =12, objects in rows
and columns.

Complete.

O O 0O 00
OO0O00OO0
00000

2 rowsof _3 = _ rows of

2 x 3 = X =

EY Jack plants 4 rows with 6 trees in
each row. How many trees does
Jack plant? Make an array for the
problem. Write a multiplication
equation.

X =

trees

Maodule 1 e Lesson 3
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Understand the Commutative
Property of Multiplication

The Commutative Property of Multiplication says
that changing the order of the factors does not
change the product.

The multiplication equations below are related. The factors
in each multiplication equation are 2 and 4. The product in
each multiplication equation is 8.

There are 2 rows of . .

4 counters. There

are 8 counters. . .
. . . . . . There are 4 rows
of 2 counters.
e@ee @ -
8 counters.
2X4=28 4X2=28
Draw an array. Then write an equation.

& Nicolas is setting up chairs. There are 3 rows. He puts
2 chairs in each row. How many chairs does Nicolas

set up?
Multiplication Equation

3 X _2 = chairs

74 Nicolas decides to change the order of the chairs. Now
there are 2 rows. He puts 3 chairs in each row. How
many chairs does Nicolas set up now?

X = chairs

Module 1 ¢ Lesson 4
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Represent Multiplication
with Number Lines

Reg uses 5 nails to measure the length of a hammer. Each
nail is 3 inches long. How many inches long is the hammer?

You can find the length of the hammer by using a number
line to count by the number in each group.

» By what number do you count? _ 3

How many ijps on the number line do you
make? 5 jumps

=

Write an equation. _ > x _3 = _15

&

> How many inches long is the hammer? _15 inches

Show equal groups. Write a multiplication equation. Solve.

58 Ella uses 4 rolling pins to 2 2 2 2

measure the length of a NN N N

There are

groups of 3.

table. Each rolling pin is

2 feet long. How many feet
long is the table?
4 x_2 = The table is feet long.

%3 Ethan ran 6 miles each day

for 3 days. How many miles _, RN T

- T T T T T | T ] i I I
did he run in 3 days? 0123 45678910M1213141516
a - Ethan ran _____ miles.
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Represent Multiplication with Bar Models

Monica sees 3 trucks. Each truck has 6 wheels. How many
wheels are on 3 trucks?

You can use a bar model to find the product. The whole

is made of 3 equal groups, or parts, with 6 wheels in

each group.

There are 3 boxes.
Each box stands for
1 truck, or 1 group.

3 parts
I

[

6

3X6=18

There are _ '3 wheels on 3 trucks.

There are
6 wheels in
each group.

The whole bar model
shows how many
wheels there are on
3 trucks.

Draw a bar model. Write a multiplication equation. Solve.

1l Taylor wants to make 5 bracelets. She needs 9 beads for

each bracelet. How many beads does Taylor need?

Taylor needs ___ beads.

24 A park has 7 picnic tables. There are 4 people sitting at

each table. How many people are there at 7 tables?

X =

There are people at 7 tables.

Module 1 » Lesson 6
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Understand Area by Counting
Unit Squares

A unit square is a square with side lengths of 1 unit.
One unit square has an area of 1 square unit. Area
measures the number of unit squares needed to cover

a surface.

Find the area of this figure. Connect the dots to form unit squares.

Count the number of unit squares inside
the figure.

L] L] e L] ‘l ° L]

® L] L ] L] 2 L] [ ] ®
2

(] @ e ° [ ]
315

® L] 2 L] ® L] L]

[ ) ® ® 4 6 ?

The area of the figure is 2 square units.

Count to find the area of the figure.

® *—a—2 L] e — °
L] 1] o I l b ® [ ] : : - @
® : o [ [ =2 o---9 @

[ < : ®

®
L ]
&
&
e e
L]
®
L ]
L]
L]
(]
L

® 3 ®

L] L] ® [ ] L] [} L] @ L L] L] L] o

L] & . L] L] L ] [ L] L ] L] L] L ] @ ® a8 L] ®
[} & & ® L] L] . o ®
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Measure Area by Counting

Unit Squares

You can find the area of a

__________

tigure by counting the number  isquare! | square !
of square inches or square { inch | | centimeter |
centimeters that cover the shape.

Count to find the area of

the figure.

Each unit square is

1 square centimeter.

Count the number of :

square-centimeter units

that cover the figure. 8 |9

The area is 7 square centimeters.

Count to find the area of the figure.

Area =

Count to find the area of the figure.

square inches Area =

3 4

square centimeters

Area =

Module 2 e Lesson 2
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Each unit square is 1 square inch.

the figure.

Find the number of square
inches in each row.

______

______

______

______

The area is

NJ

&8 Each unit square is

1 square inch.

—

square inches.

The area is the number of square inches that cover

You can add to
find the total.

Add the number
of square inches in
each row.

A+ 4+4=12

Find the area of the figure. Show repeated addition.
Show multiplication.

Relate Area to Addition and Multiplication

You can use repeated addition or multiplication to find
the area of a rectangle.
What is the area of the figure?

You can multiply to
find the total.

Multiply the number
in each row by the
number of rows.

3x4=12

%1 Each unit square is
1 square centimeter.

Add_S.—S—S—SZZO Add.
Multiply. &~ 5 = 20 Multiply.
Area = square inches Area =

Module 2 » Lesson 3
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Solve Problems with Area

You can use multiplication to find the area of

a rectangle.

A garden has the shape of the rectangle shown.

What is the area of the garden?

Divide the rectangle into 4 rows.
Each row is 1 yard high.

Each row is 8 yards long.

~«—— 8 yards — | 1yard

~<—— 8yards —> | 1yard

-<«—— 8yards —> | 1yard

~—— 8 yards — | 1yard

The area of the garden is

22 square yards.

Find the area of the rectangle. Write a multiplication

equation.
9 inches
3 inches
Multiply. = = 9 =
H 6 feet
2 feet

Multiply.

Module 2 @ Lesson 4

8 yards
4 yards
Use the drawing.
Multiply to find the area.
4 X 8=32
Record the area in square units.
Area = 32 square yards
9in I i
9in. Tin
Jin Lin
Area = square inches
_ feet foot
__ feet foot
Area = square feet
19
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Find the Area of Combined Rectangles

You can break apart a figure made of combined rectangles
into smaller rectangles to find the area of the figure.

Each unit square is 1 square inch.
What is the area of the figure?

Draw a line to break the Multiply to find the area of
figure into two rectangles. each rectangle.
! 3xX4=12 6 X 5=30

To find the total area of the figure,
add the areas of the two rectangles. 12 + 30 = 42

. i -
The area is =% _ square inches.

Area of top rectangle:

%1 What is the area of the figure?
Complete the equations. 3 x_/
Area of bottom rectangle:

4 ==

Add the areas:

—+ =

1 []=1square meter
Area = square meters

Module 2 » Lesson 5
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Multiply with 2 and 4

When you multiply with 2, the product is the same as
when you add doubles. When you multiply with 4, you can
use a 2s fact and double the product.

Kavita rides her bike 5 miles each day. How many miles
does Kavita ride her bike in 4 days?

Find the product 4 X 5.
Use a 2s fact. 2X5=10
Double the product. 10 + 10 =20
4X5=20

Kavita rides her bike 20 miles in 4 days.

Use a 2s fact and doubling to find the product.

Bl 4 x3=1¢ Plaxe=m
2x3=_5_ 2X6=___
o+ 5 = =
4x3=___ 4X6=____

Find the product.

Elox7=__  HEl2x8=__ Haxa=___ -
Baxs=__  H®E2x9=__ HEax7=__
Blex2=__  Hlaxo=__ H2x5=

Module 3 e Lesson 1
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Multiply with 5 and 10

When you multiply with 5 or with 10, you can use a bar
model or count on a number line to find the product.

Greg reads 5 pages each day for 7 days. How many pages
does Greg read?
Find the product 7 X 5.

Use a bar model or count by fives on a number line.

5 5 5 5 5 5 5 7 X 5=135

5, 10, 153 20, 25, 30, 35

o L s 7X5=35

|
| |
O 5 10 15 20 25 30 35 40 45 50

Greg reads __3>  pages.

Complete the bar model. Find the product.

Bll5<x5=89 = &
5 5 5 5 5
s 10, SE 2, 25
5X5=___ Ax10=____
Find the product.
Elox6=__ FAsx1w=__  Hoxs=

Module 3 ¢ Lesson 2
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Multiply with 3 and 6

A drawing of equal groups, a bar model, or a number line
can help you help multiply with 3 or with 6. You can use
a 5s fact and addition or a 3s fact and doubling to help
multiply with 6.

There are 9 oranges in each box. How many oranges are in

6 boxes?

Find the product 6 X 9.

Use a 5s fact and addition. Use a 3s fact and doubling.

6X9=9+9+9+9+9+9 6X9=9+9+9+9+9+9
A _ - \ a— e ——

= 5X9 +9 = 3IX9 + 3X§
= 45 + 9 = 27 + 27
= 54 =54

There are _-* _oranges.

11l Use a 5s fact and addition to P4 Use a 3s fact and doubling to

find the product. find the product.

6 x8=8H 6 X7="1

6 X8=5X8+8 = X7+ ___ X7
= et o+ 8 S

6X8=___ 6X7=___

Find the product.

Ele xa= B

Gy5x3=__

© Houghton Mifflin Harcourl Publishing Company

27

Module 3 » Lesson 3



© Houghton Mifflin Harcourt Publishing Company

Name

Understand the Identity and Zero

Properties of Multiplication

When you multiply a number and 1, the product is

that number.

When you multiply a number and 0, the product is 0.

Tia has a box. She puts 5 crayons in the box. How many

crayons are in the box?

Use the Identity Property of Multiplication.

The product of any number and 1 is that number.

1X5=5  Thereare _> crayons in the box.

Tia puts 0 pencils in the box. How many pencils are in

the box?

Use the Zero Property of Multiplication.

The product of 0 and any number is 0.

1X0=0 There are __0  pencils in the box.

Complete to find the product.

0 groups of __3
OXx3=____

Find the product.

= Fl6 x 1

Bi1x7=___ Fdoxs

Module 4 ¢ Lesson 1

group of

1X8=__
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Understand the Distributive Property

You can use an array to model multiplication. Then you
can break apart the array into smaller arrays to model
facts you know to help find the product.
Find the product 3 X 9.

Make an array of 3 rows with 9 squares in
each row.

Break apart the array to model 9 as 5 + 4.
3X9=(3X5)+(3x4)
=15+ 12

= 27

N

3xX9= 27

Use the array to complete the equations to show the
Distributive Property.

3Xx8=H 4x7=H
3Xx8=3x(_4 + _4 ) 4x7=4x/( + )
3X8=BX___)+BX__ ) 4X7=@X__)+@l@x____
3X8=_ + 4X7=___ _ +
3X8=___ 4X7=___

31
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Understand the Associative Property
of Multiplication

You can change the grouping of the factors to use facts
you know or to make it easier to find a product.

When the grouping of factors is changed, the product
remains the same. This is called the Associative Property

of Multiplication.

Each week, Leo hikes 4 miles on each of 2 days. He has
gone on the hikes for 3 weeks. How many miles has Leo

hiked in 3 weeks?

Find the product 3 X 2 X 4.

A. Find the product (3 X 2) X 4. B. Find the product 3 X (2 X 4).
(3 x2)x4 3 X (2 x4)
6 X 4=24 3 X 8=24
Leo hiked 2%  miles.

Complete to find the product.

Bl 2 x (5x3)=8& Pl (7 x4 x2=H
2x_5 )yx3=4H Ix@x_____ )=%H
_X3=__ 7 X =
2X(5X3)=___ (7X8)x2=____

Show another way to group the factors. Then find
the product.

E]2x4)x2 Fisx(2x7)

Module 4 o Lesson 3
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Multiply with 7
You can use a bar model to help you multiply with 7.

Sasha does 7 push-ups each day for 8 days. How many
push-ups does Sasha do?

Find the product 8 x 7.

Draw a bar model. Count multiples of 7 eight times.

7 7 7 7 7 7 7 7 lex7=73s
| |

7, 14, 2, 28, 35, 42 49 56
Sasha does _>%  push-ups.

Draw a bar model to find the product.

;
2
<
~4

4X7=____ I X7=____

Zle x7=1

3X7= 6 X 7=

Find the product.

Box7-= EB7xs5=__

Module 4 ¢ Lesson 4
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Multiply with 8
You can draw a visual model and use the Distributive

Property to help you multiply with 8.

Dora cycles 8 miles each day. How many miles does she
cycle in 7 days?

Find the product 7 X 8.
Draw an area model showing 7 rows with 8 squares in
each row. Then use the Distributive Property.

Pick facts you know. Since 8 = 5 + 3,
you can use a 5s fact and a 3s fact.

7x8=7X{(5+3)

7 X 8=(7X5)+ (7 X3)

3 7 X8 =35+ 21

7 X8 =056

55 miles.

Dora cycles

Use the Distributive Property to find the product.

4 X 8= ploxg=H

AX8=4X(6B+_2 ) 9x8=9xX{@A+____ )
AX8=(4xX6)+@X___) 9x8=0Ox ____)+@Ox___)
4 X 8= + 9 X8 = +

4 X8=__ 9x8=____

Find the product.

Ele x8=

Module 4 e Lesson 5

 =8x5 BHexsg=___
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Multiply with 9

You can combine strategies and use facts you know and
properties to multiply with 9.

A bag of trail mix weighs 9 ounces. What is the weight
of 9 bags of trail mix?

Find the product 9 X 9.

Use the Distributive Property. Pick facts you know for
the second factor.

Since 9 =5 + 4, you can use a 5s fact and a 4s fact.
9XG=9x(5+4)
9 X 9=(9X5)+(9x4)
9 X9 =45+ 36
9 X9 =81

The weight of 9 bagsis _S! ounces.

Use the Distributive Property to find the product.

il 8 x 9 = i = @
8X9=8x(3+_° ) 9X7=9xGB+ ____ )
8X9=08x__ Yy+@8x___) O9X7=09x___)+0Ox___)
8X9=__ _+ _ IX T =+
8X9=__ O9X7=____

Find the product.
Elox3=___ HBlsx9=___ Hox2=___
Boxo=__

Module 4 ¢ Lesson 6 39
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Identify Number Patterns on the

Multiplication Table

You can use a multiplication
table to look for patterns.:

What multiplication facts are
shown in the column for the
factor 4? What even or odd
pattern do you see in the
products?

The product is shown in the table where

the column meet.

1X4=24 5 4 =20
2% 4=28 6x 4 =24
3x4=12 7 X 4=128
4% 4=16

These products all are £vVEn.

column

:

(x)(1]2[s]a]s[6]7]|8][9[10)}«factors
e 4

(1 [2]3]«]s]e]7]8]9]0

2 |[2] 4|65 |w0]2]u|6]s]20

3|[3 6|9 |1 |15]8]|2]24]27] 30— row
4|4 8|12]15]20]24]28]32]36]40

5 |[ 5 [10[15 |20 25]30]35]40] 4550

6| 61218 21]30]36]42]48]54]60

7 1[7 (4| 21] 23] 35| 42|49 56] 63| 70

8 || 8 |16|24] 32| 40] 4856|6472 |80

o |[ o [18 2735|4554 63| 72| 81|90
(1010 20]30] 40 [ 50[ 60] 70[ 80[ 90100

—

factors

the row and

Is the product even or odd? Write even or odd.

Ello x4 12 BB

Module 4 * Lesson 7
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Use the Distributive Property

The Distributive Property states that multiplying a sum by
a number is the same as multiplying each addend by the
number and then adding the products.

Ben is tiling his hallway. He places 4 rows of tiles with
20 tiles in each row. How many tiles does he use?

Find 4 X 20. You can break apart 20.
4 X20=4x(10+ 10) <— Break apart.

= (4 X 10) + (4 X 10) «— Multiply.

4

=40 + 40 = 80 < Add.

Ben uses _ 27 tiles.

%4 Jessica has 2 boxes of books. ; : __
Each box has 40 books. How'» HH A AR
many books are in 2 boxes?

2X40 =2 x 0~ 10~ 10~ 10

= . ____ _books

Write the product. Write one way to break apart a factor
into multiples of 10.

19 x 20 =

( X )+ X )

El4axs50=__
(X _ )+ xX___ )+(__  x ) +
(X _ )+ (__x__ )

43
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Use the Associative Property of
Multiplication

The Associative Property states that when the grouping of
factors is changed, the product remains the same.

Jasmine earns $9 a day for feeding rabbits and chickens. 20 is a
How much money does Jasmine earn in 20 days? multiple of
Find 20 X 9. 10. 1 can
break it
20x9=( 2 x_10)x9 «—Breakapart 20 using apart into
10 as a factor. 2 X 10.
=2x(10<9) «— Use the Associative Property to

change the grouping of the factors.

— (10X 9) + 0 9 «— Use the Distributive Property. There
are 2 groups of (10 x 9). Multiply.

=90+ _9 = 180 <— Add.

)

Jasmine earns 239 in 20 days.

71l Otis plants 50 rows of flowers. He plants 8 flowers in
each row. How many flowers does Otis plant in all?

50 x 8=(5%x10)x _8

B X X )

= (X )+ x )+ x_)
(X __ )+ (—x_)

= __ ot A + +

= __ flowers

Show two ways to group the factors.
Plaox9=(__ x__)X = X (X )

El3 x80= x (X __)=(_x_)X

Module 5  Lesson 2
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Name

Use Place-Value Strategies to
Multiply with Multiples of 10

Ella has 4 sheets of animal stickers. There are 30 stickers
on each sheet. How many stickers does Ella have?

Find 4 X 30 = L

Use what you know about

place value.

4 X 30 = 4 X 3tens <«— Rewrite.

= 12 tens

=120

<— Multiply.

Ella has _ 2. stickers.

Solve.

Use connecting cubes to represent
the tens.

alaipioicioldisish (oioiolo|clojoisigles (Dloinisloiglalic|cich

[©] i ¢

SI2ICIDISI20IEIcy oIBo[a[SinSiCy (9.2 [Sig|szn

siofelsielslalcicies ojo[olc[Siojo[oiclon [Colelslglaio.clolod

1SICICIS0E Ol0[QIC|0{2iC|0;5i02 OIGICISIg 202 |SICy

O

] santosa practices singing 5 days a week. He practices
for 20 minutes each day. How many minutes does
Santosa practice in a week?

5X20=5X

______minutes

Pl There are 40 batteries in a package. How many

batteries are there in 8 packages?

Use place value to find the number of tens. Find the product.

Ele6 x30=6x

Module 5 e Lesson 3

. tens

___tens

ESOXZz__tensXZ

e tens
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Multiply Multiples of 10 by

1-Digit Numbers

There are 4 tables in the lunchroom. There are 40 plates

on each table. How many plates are there on 4 tables?

Find 4 X 40 = .
A. Use place-value blocks.
Show 4 groups of 4 tens.

B. Find the total number of blocks.

4 tens

P -
o Tens

4tens + 4 tens + 4tens + dtens = 2 E1b

4 X 40 = 16 tens

C. Regroup 16 tens as hundreds and tens.

4 X 40 = 1 hundred 6 tens.

-

— 100 + 50

140
e o)

There are 160 plates on 4 tables.

51 1t took Hiro 3 hours to drive from Miami
to Melbourne. He drove 60 miles each
hour. How many miles did Hiro drive?

Find the product.

Blsox2-__  Elex90=___

= 70 I so

X 8 X 5

Module 5 e Lesson 4
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=30 X7

(D

2 CFErEreee?
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4 tens 4 tens 4 tens
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Represent Division

Equa! groups are groups that have the same number of
objects. You can draw a picture to show dividing into
equal groups.

Lola has 24 dog biscuits. She puts an equal number of biscuits
on each of 6 plates. How many dog biscuits are on each plate?

Draw 6 plates. Draw to separate 24 dog biscuits into an
equal number of biscuits on each plate.

p=

_ 2% _dog biscuits; __5___ groups;
__% _ dog biscuits in each group

There are _ % dog biscuits on each plate.

1 Lateisha has 24 apples. She puts 8 apples in each bag.
How many bags does Lateisha fill?

i

_2% apples; _ 8 _ apples in each group

___bags

74| Xavier has 35 beads. He puts 7 beads on each bracelet.
How many bracelets does Xavier make?

_ beads; ____ beads in each group

. bracelets

E1 Sibbi sells 27 raffle tickets. He sells an equal number of
tickets on each of 3 days. How many tickets does Sibbi

sell each day?
_tickets; ___ days

___ tickets each day

31
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Separate Objects

jamal collects 36 seashells. He separates them into 3 equal
groups. How many seashells are in each group?

Show how the 36 seashells can be separated into

9 equal groups.

O O]lo 0|
[elelileXell

M
N

HEFE

(

each pile?

. cars

© Houghton Mifflin Harcourl Publishing Company
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Jamal can make __7__
each group.

Separate into equal groups 1o solve.

71l Chyou has 18 pieces of sea glass. She separates them
into 3 equal piles. How many pieces of sea glass are in

___ pieces of sea glass

Pl Adeline has 35 toy cars. She puts an equal number
of cars on each of 5 shelves. How many cars are on

each shelf?

| Jakub buys a box of 24 juice pouches. He puts an equal
number of pouches on each of 3 tables. How many

juice pouches are on each table?

_____juice pouches

into Equal Groups

o [O O
00
00

U()
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Find the Number of Equal Groups

Lili has 21 coins. She puts 3 coins in each envelope.
How many envelopes does Lili fill?

Draw to show the coins separated into equal

groups of 3.
& 20 o @@5_ ) e ® 21in all: 3i
. | & y @ s |® | @ el
— e @ ® | L o each group
Lili fills __7__ envelopes.
@Keng has 28 flowers. He puts 7 flowers into each vase.
How many vases does Keng fill?
. vases
Tali has 32 stickers. She decorates each notebook with
4 stickers. How many notebooks does Tali decorate?
____ notebooks
E1 Greg buys 30 pencils. He puts 5 pencils in each pencil
case. How many pencil cases does Greg fill?
__ pencil cases
Z1 Ani has 14 seeds. She plants 2 seeds in each pot. How
many pots does Ani fill?
_ pots
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Name

Relate Subtraction and Division

Liam has 12 cups of soup in a bowl. Each serving of soup
is 2 cups. How many servings does Liam have?

You can use repeated subtraction to solve.

Keep subtracting 2 until you get to zero. Count how many
times 2 is subtracted.
12-2=10>10-2=8>8-2=6~>
6-2=4>4-2=2>2-2=0

2 can be subtracted b times from 12.

Liam has __2__ servings of soup.

Write a division equation to model the problem. 12isthe
dividend. 2 is
12+ 2= 5 the divisor.
. ) 6 is the

Use repeated subtraction to solve. Then write a quotient
division equation to model the problem.
£l Gina puts 20 bagels on display in the shop. She has 4 of

each flavor. How many flavors of bagels are there?

Repeated subtraction: 20 — 4 =16=>16 T 4 =12

12 -4=8=>8-4=4>4-4-= -

Division: 20 =4 =5

There are flavors of bagels.

51 Mr. Romero has 24 crayons. He puts 8 crayons on each
table. On how many tables does he put crayons?

Repeated subtraction: .

Division: e

Mr. Romero puts crayons on tables.

57
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Represent Division with Arrays

An array shows objects arranged in equal rows and
columns. You can use arrays to represent division.

Paavo pins 35 photos to a corkboard. He arranges them in
5 equal rows.-How many photos are in each row? Make an
array to show equal groups.

35 photos; 5 equal
rows; 7 in each row

The array shows
35+5=7.

Make an array. Write a division equation.

i1 Fahima places 24 plates on a table. She arranges them
in rows with 8 plates in each row. How many rows of

plates does Fahima make?

—___rows of plates

P4 J.p. plants 36 seeds in the garden. He
arranges them in 4 equal rows. How
many seeds does he plant in each row?

seeds in each row

Module 6 ¢ Lesson 5
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Name

Represent Division with Bar Models

Karen has 12 feet of rope. She cuts the rope into 4 equal
pieces. How can you use a bar model to find the length of

each piece of rope?

A. Draw 4 equal boxes to represent the 4 equal pieces
and the total length.

B. Write a number in each box to show the length of
each piece of rope.

Think: 8 + 8 + 8 + 8 =12

Lad
[N}
&

12 feet

C. Write a division equation to model the problem.
12+4=_3_

Each piece of rope is _ 3 feet long.

51 Cedric has a roll of wrapping paper that is 15 feet long.
He cuts the paper into 3 equal pieces. How long is each
piece of paper? Complete the bar model. Solve.

! i
|

[Wal

|
l
!

15 feet

feet long.

Each piece of paper is

Diana cuts a 28-inch piece of ribbon into 4 equal pieces.
How long is each piece of ribbon?

Each piece of ribbon is inches long.

Module 6 » Lesson 6
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Name

Apply Division Rules for 1 and 0

Traig has 7 pieces of pita bread and 7 napkins. He puts an
equal number of pieces of pita bread on each napkin. How
many pieces of pita bread are on each napkin?

Any number

5 ! 1 o | | N
z-ﬂ..] ‘ g‘% ]! ‘ r}w | %1 !' ﬁ !I! ._—g.;l (exceptO)

‘.__.. — W d e

divided by itself

g =1 equals 1. Any
i . o ) number divided
There is _____ piece of pita bread on each napkin. by 1 equals that

Shannon divides 0 cheese slices equally onto number.

7 pieces of pita bread. How many cheese slices

ach pi f pi i
are on each piece of pita bread Zero divided by any

0+7=_05_ number (except 0)

_ ) equals 0. You
There are .- cheese slices on each piece of cannot divide by 0.
pita bread.

Divide. Find the quotient.

= ﬁs—1

4 Molly makes 5 sandwiches. She puts an equal number
of sandwiches on each of 5 plates. How many
sandwiches does Molly put on each plate?

Write a division equation. Solve.

. sandwich
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Subtract.

f12-7=

fl19o-10=___ iEi1s-6=__
13 15 22V
- 6 - 7 - 8

|
|
|

BUILDING FACTS FLUENCY

El14-9-=

219



Add or subtract.

B 10 2]

220

|

4 9
+ 10 + 6
Bl7+9=___
9 13 Y
el -7
fld10-3=____
7 21N
+ 6 -9

|

Pl16-8=____
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Multiply.

4 3 B 7 B s H o
x 2 x5 X 2 x 2 x5

@sx2=_ BE7x5- Blaxs-=

ﬂ 9 1 m 2 m 7 E 6
X 2 ) X 2 x5 x 2

71 x 2= F1ox5=___ G 10x2= _

8 10 9 20} 5
X2 gl 2 x5 X 2 x5

PPl 2 x 1 = PE] 8 x 5 = P15 x10=__

224
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Multiply.

X

o N

|

X
O o
X
O —

|
|

B7] 9 x 10 =

PPl 9 x 4 =

BUILDING FACTS FLUENCY

FEl3x10=____

225



Gl3xs=__
Bl s
x 4
f7l9x 3=
8 i
X3
P¥l 7 x 4 =

226

1 13|
X 3

10 21
X 4

PEl10x3=__

X
AN

|
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Multiply.

1
1

Bsx1=__

X

|

K
o
X
U

I

BUILDING FACTS FLUENCY

X
o o
X
0 —

|

- 00
o O

|

1 B o
x 7 x 6
Bli1x3=___

2 6
x0 x1
fHox3=___

0 9
x1 x 0
PIlox 4=

227
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- 00

|

)
x
Q
c
Qa
=
g
3
=
=
=
I
)
5
I3}
=}
c
=
n
c
g
=
=
=
@
O
<]
3
=)
o
3
~



. Fluency Builder

El1x9= Pll2x8= Elsxa=

g 3 B3 3 @ 7 6 '3 I
b x 3 X6 X 8 x9
Bl 1x5= Mox2= Blexa-=
8 7 7 5 16
x 8 xAa x 8 X5 x 0
§7><1o: fF6x9= fE] 8 x5 =
€
£ B 6 5 4 0 10
: X6 x 3 X9 x 4 x 8
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Multiply.

B7x___ =35

4 X4 =32

X 8 =48

230
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Divide.

Bl14+2=
Zi20-+5=
B so+5-=
E0]30+5
fEl 12+ 2
i 2)6

Bl 2)6

P25 -5-= Elsss+5=___

H1is-2=___ @as+5=__

Fj10-+2= Eja-2=

] 15-5=_ fPls+~5=__

fFls-2=_ [BHo-2=___

f¥l 5)45 EF 2)14 iE 2)20 P 5)35

b7 5)20 BPE] 2)16 P71 5)25 P 5)40

231

BUILDING FACTS FLUENCY



Divide.

Bl 20 - 10 = PHo-90=_

E¥40+-10= Hss+-9=_

280~ 10= Ble3+9=_

0] 50+ 10 = ffl 27 9=

EEl90+10= iZi81+9=_

iE10)10  [Fl9)27 £l 10)60

PX] 9)36 P7110)50  EE]9)81

232

Elo-10=__

H70+10=

72+9:

EE 100 - 10 =

[19E)EF] Pl 9)45

- EFZ110)30 P 10)80
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Divide.

Ef12-3= Pls-a=___ Elaa-3=____

Ed3+3= He+3= 6 REREE

Bl 27 -3= Els0-4-= Elo-3=

ifl12+4= l21+3= Pa-4=___

EE] 28~ 4= fl20+-4=__ fE32+4=__

i 3)27 iEl 4)8 i 3)30 iEl 4)36 P0] 4)16

321 420 FE] 3)9 BZ] 3)15 BH 4)24

233
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116D}

BE 1)10

234

117 K050

F7] 3)3

Ho-3=_
Bo-7=__
fflo~6=__
le~1=__
i 2)0
e 7)7

Be-6=__
Elo+-5=__
fFs~1=____
EHo+1=___
EE] 10)70 BB 9)0
PZ1 1)4 b5 8)8
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. Fluency Builder -

- Division with 6, 7, and

Divide.

El12+-6= Blo1-7=__ Eloa+8=___

Flea-8= - Bi18+6=___ Bao+-8=___

Ele-6= Flez+7= Els6 8=

36 -6=_ E70+7=_— iH48-6=—
EEl24+6= l32-8=____ BH7-7=___

i 7)28 §7l 8)80 ff 7)56 Tl 8)48 Bl 6)30

BPEl 7)35 F7] 8)8 BE] 7)42 BZ1 8)72 FE 6)60

© Houghton Miffiin Harcourt Publishing Company
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Divide.

Bj18+2=__ Plaa-6=__

£ 16+-4= B s6-8=

Bl 35-7=__ Ejo~1=__

Mo-6-__

6 7)42

EE]l 5)45

iF 6)30 i 2)12 P0] 3)30

PE19)72 BZ]9)9 PE] 4)28

236

Elx-7=

@36+9=

Ela2-+6

iP] 40 - 8=

G 4)24

Vil 8)24

Pl 8)48

P71 7)49

10)100
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Multiply or divide.

Blsx2=___ Fle -3

9
1

2 o H 53 @
x 3 X
Ej10-+5=
=__ fEl 7)28
= 0
X 8

238

f2x7=

Bla-2-=
Hl s B O3
x4

BBl 7 x1=
2 iE 3)12

x 6

19
x93
PE] 8)s0 B 6
X 7
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Add.

314

+ 282

6 AR

+ 222

Bl 224

+ 518

363
+ 327

Bl 253

+ 115

415

+ 360

: 856
+ 104

_ 542
+ 439

+ 319

BUILDING FACTS FLUENCY

406
+ 52

158
+ 421

329
+ 468

526
+ 246

740
+ 140

147
+ 350

103"

+ 282

734
+ 37

219
+ 780

254
+ 244

475

+ 217

219
+ 319

239



793

+ 111

il 286

+ 147

116 YA

+ 248

356
+ 519

240

605
+ 205

444
+ 282

173
+ 567

+ 734

582
+ 151

+

_|_

_I_

+

—+

327
248

562
55

638
169

359
269

795
39

742

+ 129

334
+ 284

835
+ 96

727
+ 186

+ 28

698
+ 240

304
+ 99

221
+ 679
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Subtract.

Bl 428
— 316
| 6 YY)
— 142
972
~ 647
935
— 443
370
— 151

BUILDING FACTS FLUENCY

537
— 204

936
— 713

846
— 372

749
— 123

890
— 370

769

826
— 417

824
— 132

637
— 552

2] 607
— 401
B} 451
— 130
858
~ 239
19 YA
— 285
Pzl 784
- 64

234
— 123

635
— 116

139

973
— 237

241



Subtract.

Bl 561
- 313
923
— 761

313
— 268

811
— 204

467
— 275

242

— 567

692
— 219

872
— 690

804

655

- _ 374

572
— 364

473
— 265

728
— 445

350
— 162

313
— 187

394

12

607

416
— 279

940
— 451

15

459
— 185

613
— 369

964
— 689

473

— 396

Auedwon Buysiignd ynodseH Uiy uoubnoH @



© Houghton Mifflin Harcourt Publishing Company

Add.

B8 321 + 847 =

Els71 +142 =

EH 364 B 192

+ 757 + 839

El 576 + 715 =

iE] 445 + 609 =

iE] 947 i 432

+ 544 + 992
861 i 698
+ 897 + 509

BUILDING FACTS FLUENCY

%3 1348 + 332 =

EY513 + 487 =

1,176 Bl 647
+ 449 + 453

0] 1,226 + 757 =

i 815 + 366 =

g5 1,000 i 875

+ 264 + 432
289 598
+ 884 + 787

243



Subtract.

BH1962-953=__

EY647 -348=__

BH 44 & 1,828

~ 189 — 744
£l 1637-489=_
i8] 1,474-335=___

fE] 1,371 g 1,569

— 800 - 639

] 1,745

— 493

244

Pig72-656=__

F91243-600=__

Bl 1,105

1,784

T 930-812=__

[Pl 726 -487 =
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Multiply.
2 X 14

111 x5

675

PE] 212 P71 156

© Houghton Mifflin Harcourt Publishing Company
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g3 4)48

N2 R

75 1)987

FE] 5)85

246

I

EEl 2)38

P71 1)896

Bl11 1=

Ele6 + 6=

El 5)55

fE]1 120 - 6

i 916 ~ 1

B 4)52

P& 7)70

Pil 3)54

PIH 4)64

§F1 240 1=

1)999
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